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N. B.: (1) AlI questions are conlBulsory.
(Z) MuL" 

, li ? ?.f ".eoqu.pf,sn, *herever neces sary an d/a\ r _'-: vr rrLrrJJal-y altu !!Lat\r/ Answers to the sarnqqtl€gllion must be $.rittcn fogetil(4)Numberrtoth.ffi' ,,.1.
(5) D.r*,@ ffi..necessary;,,'
(o, use of Non-programmabre carcurators r@., . .-...:

I ...\.

t.
a.

b.

C,

d.

1

Attempt qryv threlof the following; ri :

What is object orienred.prog.an,miig? Stare irs appiications.Illustrate the relationship be-tween ofr..t unO .tu.r. :

lxplain the concept of absrractio, *ilh-;;;i. ._rror..Explain in brlef about reusability with ,,,ltuUf".xo;;i;, :

-WIrat 
is polymorphism? Give,ritubl".iurpt. for the same. .ivrite a note on dynanric binding, 

rvr 'rlr rorrr(;'

Attempt Lut threeof the following:
Explain the struciure of C++ class. 

'
write a c++ p;'ogram ro create a crass Bank uith { acno. custname, bar} as itsattribures. And irnnrernerrr rrre methoJs wiir,or.,"ci , ;;;;;i;';nd showBaranceO.Exphiir in brief rhe 

"onr.pioriri.,ri"rrr.,,", ,na'.tur, ,"irrr'ri,i,rure exarnpre.
-\lzhat 

is constructor? State its otru.udioi.ii".. 
" l- 

!rsrJ 'r rL' rq

\\/rite a C++ program to irnprem.rilrr. ."r.ept ot'constructor and destructor,Explain rhe conccpt of poinier,o oU;"., ,"irn l*i"Ui;;;;;;;; "

: ' .:,.:

L{

15

')

a.

b.

d.

e.

f.

: Attc.mpt gLu threeof ilre foUowing:a' Explain the corrcepJ of functionloGioaorrg with suirabre exampre. 15

: ,o,::,..,^: !n* l.*i:, ,o ou.rio; bh;;;i;j';il;;;i:'L' 
il:Ui;::tratois 

that c4nnot'bd.oue.toiaea, nriiuin ,*-.rres for overroading the
d. What is static furrcrion? Explain how it is implenrented.
: w*aris purevirtuar'tun"iJ.ie.pjr,i-h;;l;;r'i*;i"*"^,"0
L Explain in brief th. 

"on..pt 
o'rlt_^sttra"t ,lur..

t5
4.
(t-

b.

Attempt gryll!1ree of the foiloriing:
E-^l^:-.r-

Write a C++ 
1

ft iJ:,1 :i...:::.::::::,i,f i:I; 
I ffler i ta nc e s w i rh s u i ta b I e exam p r e

''p rogram ro i m p rement u-," ror ro",il; ;;"r", 
"iiiiili.],"r..

,,1,

,

, c.:.

''". . d,

f

fig]ain the concqpt of merhod overridlng u,ith suitable example.
]Vrite a note on containership. 

-'--'o

Explain thc mechanism of handring the exception *,itrr sLritabre exampre.Explain in brief about hybrid inheita,r.e'*,ith suitabre exanrpre.

ITURN OVERJ



5.

a.

b.

d.

e.

Q. P. Cocle :33404

Attempt anv three of the follon,ing: 15
Explain the concept of function ternplate with suitable example.
Write a C++ program to implement the concept of class tentplate.
State and explain diflerent file modes.
Write a C++program to read the input from the user and write intc the file. lSelect a
suitable file model
Write a C*+ program to display the contents from the.r-rle in,a console rnode. [Select.a,
---:r,l t Fl t lsuitable file model

file model

..1'...,..,,i ,,-f
." ,,", , l'

f.
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(2% Hours) [Total Marks: 75]

rnlcroprocessor

l.

b.

c.

d

f.

2.

b

C.

d.

N. B.: (l) AII questions are compulsorl,.
(2) Make suitable assumptions n,herever necessary and st+te.the assumptions made.
(3) Answers to the qamg_queslta4 must be t"(itt.n toeet-
(4) Numbers to rhe risht indicare marks.
(5) Draw neallabelqd diagrams lvherever necessary. .,

(6) Use of No,n-p:-ogrammable calcularors is aiiorrea.

Attempt ant,tlrec of the follou.ing:
How does a Microprocessor work?
Explain the follorving in tenns of Compilers:- 

:

ii) Objectcode . :: ..,:.' : ,,

How is a flip or a Iatch used as a storagc elenrent?
what are the different internal data operations and the register of the g0B5
m icroprocessor?
Describe the various buses in the 8085 mieroprocessor.
Draw a neat labelled diagram of the 8085 Microprocessor,

15

15

from

2

2

1
f.

3.
q

b

c.

Ltternpt uny..three of the follolrring:
\\/rite an assettibly pl'ograrn for S08J rnicroprocessor to exchange tle contents ol
nrernory location 202011and 2021 H
Explain how rotate instrttctions can be used to check the if the hexadecimal number is
odd or ar even number
calculateJhdtime delay for the g0g5-b'ased Microcomputer with 2 MHz clock

La be I M nern on ics Operand

A and the ANI FOH.

T cycle
10

6

4

4

15

LXI
LOCP: DCX

l\,{ov

8,2384H
B
,A,C

ORA B
JNZ LOOP IO/7

d. \\'rite a prograrn to generate a Square wave of a 5c0 rriorosecond dela1,.
e. trxplain the eflect of the POF and PUSH instruction on ihe Stack Pointer.
f. List and desci"ibc the u,orking of \rarious Calls and Returns instruction in 808j

rl icroprocesscr

fv Ost -i-1
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4.
c1,

b.

C.

d.

e.

f.

a.

b.

C.

d.
e.

f.

fjtemnt ony three of the following:

I'i[r an assembly prograrn for g0gJ ,ricroprocessor to con'er,(1 1 i lBCD equivalent.
Exp.lain the following instruction for g0B5 microprocessor :_i) DAA

iil XCHG

,i

llll)ztoits

Explain the working olan interrupr in g0g5 micropr.ocessor.
What is the lunction of an ediror. assembler und l;u;;;i-"
List and describe of files generared afler cross ur;;;lirgWriteaslrortnoteonSIMinstruction,-....D

Attenrpt 
1nv three of the follorving: :. l

ListanddescribethespeciaIPentiutnregisters
Describc the memory manageme,t ir, pJntiuln ard peniium irro proccssols
Compare Core i5 and i7 p.o-""rro.r.
Describe tlre general SpARC Archirecture.
what are the various instrucrion foi-nrar in the SpARC Architecture?

t5

:tl
'L.''

Q. P. Code:33408
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(2% Hours)

N. B.: (1) All questions are compulsory.
(2) Make suitable assumptions wherever necessary
(3) Answers to the $ame question must be
(4) Numbers to the g!g[! indicate marks.

(6) Use of Non-prosrammable cafculators iiE6ildi.,

emnt onu lhree nf lhc follnwino. -,li.t{.St.'-'t'1.

a.

b.

d.

f.

the 3$d;,11YPe5

7

a.

b.

15

HTML page that

I
latea tlre r'

| --*o.1..--- j

l='i
. -'i j'','

.:, l

MOBILE OPERATING SYSTEMS
1. Android
2. iPhone
3. Symbian

MOBILE MANUFACTURERS
r Samsung
. APPIe
. HTC

t Y :::-l

[-*=;l [ -

ITURN OVERI

LLq-€* fltnorltwruti

Differentiate between Internet and
List and explain the common features
Explain the use of RGB Color Valuesj.a
element in HTML. Give suitable

create a relative hyperlink. ..''...... .:,-!i
,' .-." ,.-" l-

Design an
after 5 seconds.

iii. <figcaption>
web page:

having clickable areas ofshapes
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15
4.
a.

b.
c.

d.

15

display
of PHP

all the
Regular

5.

a,

- .,i

'' .a" rJ .-"

r.'. '",. :.]'

b.
c.

r'.

:*:

' .a'. .

;' i,..'' tl.i'

e.

f.

3.
a.

b.

How are the following controls cre;ted on a form? -
Field, Submit Button^g*pi"ir,fr. 

<audio> tag with all its attributes'

Attempt anv three of the

Explain the different data

Write a short note on

Explain the following
i. lcfirst0 ii. str

Write a PHP
array and then
Write a PHP
user.
Explain the

Attempt
Write

!..\.1/
..\.' .;.1

-i:.'

c.
d.

9.

f.

e.

f.

-l :\ ' r\r

I i- .:-.: .'.1

percentage) in database College'

PHP and retrieve its value.

with example:

from the
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(2% Hours) [Total Marks: 75

N. B.: (1) -\ll cluestious are compulsorr,.
(l.i itlake suitable assumptions u,liereyer flecessary and state thc assurnptions macle.
{3) Ansu,ers to the same question n.rust be u.ritten toqether.
(-1) Numbers to the right indicate nrarks.
15) Drau. neat Iabeled diagrams rr.herever rlecessar\,.
(6.1 Use of Non-programmable calcr_rlators is allow,ed.

l. .\llcnrpt anr llrree oItlrc follou'ing:
a. Erplain Consen,ation Lau,s ar.rcl Engineering l)roblents.
b. Explain the follorving rvith exarnples

i) Blunders
ii) Fomulation Errors
\il) Dzrta Uncertatnty
iv) Totai Nutuerical Errors

c. Explairl Floating Point represerttation and Erors in floating poilt arithrnetic.
d. use zero through third order Taylor serics expansions to pieclict f(3) for

F(x):2,5xr-6x2-7r-gg
Using a base point at r - l. Compr-rte thc trr-re percelil relative error for each approxipraticn.e Evalr-rate 1'- ar 7rr + 8r - 0.35 at l.3T use S cligit anci 4 cligit arithmetic una fi,ia the signiiicalt
cligits lost. Also fincl tire rciative errcir alter roLurcling_ofT.

t-. E,r'aluate fJl)usine -fa_r,lors 
series fbr ll.r). u|ere. lG):r,-3xr + -5x - I0

l. .4.lfernpt arrv tlrree oI thc follou ing:
a' Define and e.ritress each of the A. V, D. ancl pL in ternts of E.
b Find the polltlortlial usiug l-agrange)s interpolatiou poll.nourial *hicir aglees ii.ith the table

beloti,given r.alues. Flence obtain the valr_re ol. l(xJ at x: 2ohtain tlte vrlrrc ol [r1ar r = 2

x 0 1 J 4

f(x) 12 0 6 t2
c Find tlie Neu'torl's {'ot.uarcl clifl'erence intelpolation poll,nonrial q,hich agrees *'itlt the tablc

belou gireu rrltrcs. llr.ricc obfrirr tlrc r.rrlrrc ol tx) at x:6L'llcc obtllll tlrc vrrlrrc ol I(x) at x : 6

x 0 i 2 J 4 5

f(x) -5 10 o 4 35 90
d Obtain the root for eacl.r of the fbl[ou.'inu eqr-ralions r,rsing Regu-la Falsi Ir{ethod b-,,5 iteratior.rs.

F(x): r'- 8x +40 - 0 upto.1 clecirual piaces ri,it[xo- -5 anclxr - -.1.
e obtain the root lbr each ol the- follori'ing cquations by Nervton Raphson l,,iethocl br. -i iterations.

l-r rt-- lx- - 5r: is -.1 - 6 LrP r,, -.1 tl.,cirnal placcs
I Erplain Bisection rnethocl. Finil the approrimate root olxr - x - 4 : 0 by Bisection n.rethod r-r1r

to 4 decirnal ltlaces. Perfor-rn 4 iteratious.

3. .{tlclrrpt anl !![rcs ol'lhe follou ing:
a' Solve the follol'ing svstelr oleqnation bv Gauss-.Jorclan elitnination lrethod.

,5x-), + z: ]l0. 2r +.1r, - 12; r - r.r,i7 : _1

b Solve the follori'ir.rg ,tlrt.,-,., of .q.,atiorr, cor'lecr to lour places ol clecimals bv Causs-Seiclal
method perfonn 4 iteration use pivoting if necessarl,-:

30x-2y'+ -)z:7-5: 2r + 2y+ 182:30; r * 17\, -22:48

(

15

15

lruRN ovEB.l

15



a. P. Code z 33414

2

c. EvaluateJ'1og (1+x)1/1 dx using Sirnpson's one third rule rvith 8 sLrb-intervals.
0

10

d' Evaluate -[(x +1/r) dx bv Trapezoiclal Rule u,itl'r 10 sub-intervals and finc1 the eror.-0
e Find the t,alrLes of 1'(0.1) and 1'(0.2) using Euler's nrodified rnethods u'ith Ir: i.t l eiven that

dy/dy+yix:yr,),(l):1
f' Fiua 1'(0.2) and 1'(0..1) taking h(0.2) by second ,rrrler Runge-Kutta metl.rod siten that

di.idx : (v-x)1(r'tr1. y(0) : 1

l. .{tteurpl anv thrce of the follorr:ing:
a' An electrical flnn manufactures circuit boards in tu'o configuratiorls, sa\i (1) ancl (2). Each

circuit board in cor.rfiguration (i) requires 1 courponent of A, 2 components of B and 2
colnponents of C, eacli circuit board in cor-rfigr.rration (2) requrres 2 coinponents of A, 2
contponetlts of Il aud I Component olC. Total cornponents available are 30,30 and 25 olA,
B and C respectiveiy. If the profit realized upon sale is Rs 200 per circuit board in cor.rfiguration

'( 1 ) aud Rs 1 50 per circuit in configuration (2). Hori, trany circuit boards of'each conf-rgLrration
shotrld tlie flrm tuauufachtre so as to maxirrize prolit? For-r.nulate tl're problcm as Linear
programnring ntoclel aud solve gaphicallr.

b. A diet is to contain at least 400 units of carbilh-vdrates, -r00 units oltht and 3tlO r,inits olprotern.
l'u'o lbocls arc available Fl uhich costs Rs 2 perunits and F2 u'liich costs Rs.1 perunit. Aunit
olfbod Fl contain 10 units of carbol'n'drates, 20 units of 1at ancl 1-5 units of protein and a uuit
of tbod F? contains 25 units of carbohyclrates, l0 r-urits olfat and 2C units olprotein. Find the

. lnillirnurn cost lor a cliet tliat consists ol a mirture of these tuo foods ancl also ltleets lhe
ttritritrutn nutrition requirements. Fonnulate the problern as Linear progl-antrting rrodel.

Explain the Applications of Linear Prograrnmirrg in Business and lndustrr,
Find the s

e. Find the leas

f . Obtairr a reg,r-ession plane w'ing data

5. Atternpt anv three of the follou'ing:
r. Erplrin tlrc ltrlltni in,:

i) Randorn Variablc
ii) Probabilit,v densitl, function
iii) Probabilit-v mass function

b' T'ire lrrobabilitv clistribution function o1'a c1i bleXi

15

15

ra1 lne mation to t1're [o11ou'ing data.
X '71 68 l3 69 61 65 66 6l
Y 69 12 i0 10 68 61. 68 64

sqr-rare polynomial approxir.nation of degree t\\ o cLluoti()n iorn data belorr,,:

X I 2 3 4 ) 6 7 8 9

Y 2 6 1 8 10 11 11 10 9

usl mult e resression to tlt the lollo

X 0 1 2 3 4

Z 1 2 J 4 -5

Y IJ t1 19 2t 26

11Dur10t1 Iutlcuon oI a cilscfete ranoom varra ls glven

X -2 _1 0 1 2

P(X:x) 0.1 0.15 0.2 0.1,5 0.4

Find i) P(X<:0) ii) P(X>: -l). Also obtain tiie probabilit), distribr-rtion ol r, : 'l

ITURN{ OVERI
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Q. P. Code :33414

{ rrt-.- il. distribution.

ir i, ind C ii) P(X>:2) ttt) P(U<X<:+)

l:\ \ 1.,=i0.o-7r.Find
ir P(X<20)
ri) P (33<X<45)
iii) P(15<x<25)

It is obses,ed that 2096 of the stuclents in a class are ','egetarians. Il 4 students are selectecl at

randorn from this c1ass, u4rat is the probabilitv that

i) Exactly one student is vegetarian

,i) At least trvo of then-i are vegetariat.t

.\ senior citizer.r receives or1 an a\.erage 2.5 telephotre calls durir-rg his aftemoolr nap period 1400-

140-i hrs. Find the probabilitv that on a certain da1'. he receives

i) No telcphone ca1ls ii) Exactll'-i crlls during the saure period' fGiven e ] 5 : 0'0821 ]

., enable X has the follour

1 2 J 4 5 6

PiX:x) 3C 5C 1C 9C 1lC l3c

i ind C ii) P(X>:2) iii) P(0<X<4)
d

e.

I
$
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(Time: Z ] hours)

Please check whether you have got the right question paper..
\\\ N\\ ques\rons are compu\sorv .,-",,],' .- ,

c.

d.

e.

f.

\\) t\\\ ques\lons are compu\sorv
(2) Make suitabre assumptions wherever necessary'aoc,.G
(3) Answers to the same question must be written togethen
(4) Numbers to the rieht indica* ,".r, 

--
(5) Draw neat labeled diasrams wherever "d,d;i ,
(61 Ilce nf Nn--^'^crars^Lr^ ^-r^..r-r- ,. .;Tlffi(6) Use of Non-proerammable calculator is.ffi,

.,,
:tempt qnv three of the followine: .-:- 1.;- i.': -.'.'j;''l'L.

a.

b.

15
2.

a.

b.

c.

d.

e.

f.

15

15

[TURN OVERJ
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What is carbon footprint? Briefly expli
footprint?
Discuss about cost saving in
Write a short note on
Discuss the European
Write a short note on

Attempt anv three ot
Explain the
How can you
Explain the
How to
Write a

Explain

and

suitable example.

around servers

:."''
.i r'

program.

Plan.

List the issues to prevent wasted

2007?
in using EDI in an organization?

and non-commercial refurbishing?
a computer product's life cycle.
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5.

a.

b,

c.

d.

e.

f.
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